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%1 TR %% p:£105£59 (»PSIHk;w

- 2 R 75 R =2 B F
PSI | 5%+ | PSI ik X PSI | A%+ | PSI | 5%+ |PSI|i7%+
105#5% 01p | 48 03 49 03 46 03 40 03 45 03
105#5% 02 p 55 03 68 03 56 03 60 03 66 03
105#5% 03p 38 03 38 PM10 44 | PM10 | 36 03 38 | PM10
105#5% 04p 39 | PM10 | 50 PM10 43 | PM10 | 37 PM10 46 | PM10
105#5% 05p 60 03 52 03 64 03 53 03 62 03
105#5% 06 P 50 03 42 03 46 03 44 03 47 03
105#5% 07 52 03 36 PM10 52 03 50 03 48 03
105#5% 08 p 58 03 49 PM10 66 03 62 03 60 03
105#5% 09 p 55 03 49 03 58 03 58 03 57 03
105#5% 10p | 48 03 32 PM10 39 03 37 03 36 03
105#5% 11p 58 03 72 03 61 03 64 03 70 03
105#5% 12p 74 03 67 03 88 03 74 03 74 03
105#5% 13p 69 03 60 03 71 03 68 03 67 03
105#5% 14p 75 03 79 03 63 03 70 03 76 03
105#5% 15p 56 03 53 PM10 55 03 55 03 51 | PM10
105#5% 16 P 37 03 41 03 38 03 39 03 44 03
105#5% 17p | 48 03 46 03 70 03 54 03 51 03
105#5% 18p | 47 03 57 03 74 03 59 03 56 03
105#5% 19p 69 03 63 03 87 03 73 03 71 03
105#5% 20 P 86 03 71 03 79 03 83 03 80 03
105#5% 21p | 48 | PM10 | 62 PM10 78 | PM10 | 64 PM10 64 | PM10
105#5% 22p 26 03 29 03 34 | PM10 | 30 PM10 33 | PM10
105#5% 23p | 47 03 42 03 45 03 44 03 46 03
105#5% 24p | 49 03 51 03 50 03 49 03 47 03
105#5% 25p 59 03 52 03 75 03 62 03 57 03
105# 5% 26 R 82 03 76 03 87 03 84 03 69 03
105#5% 27 72 03 70 03 72 03 70 03 75 03
105#5% 28p | 46 03 37 03 45 03 40 03 46 03
105#5% 29 p 34 03 29 03 35 | PM10 | 32 03 35 03
105#5% 30 P 34 03 27 PM10 33 | PM10 | 30 03 32 03
105#5% 31p 35 03 24 03 38 03 34 03 36 03
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’ PSI | 5% 4 | PSI | 3%+ | PSI | 5%+ | PSI | 5%+ | PSI | 544 | PSI | 5%+
105#5% 01 p 46 03 46 PM10 38 03 57 PM10 | 46 03 37 PM10
105#5% 02p 53 03 55 PM10 45 03 60 PM10 | 51 03 47 03
105#5" 037 30 | pM10 | 53 | PM10 38 | pM10 | 57 | PM10 | 38 | O3 39 | PM10
105#5* 04p 41 | pM10 | 56 | PMI10 41 PM10 | 59 | PM10 | 44 | PM10 | 51 | PM10
105#5% 05p 40 03 67 03 54 03 58 PM10 | 58 03 44 PM10
105#5" 06 p 28 | pMm10 | 51 | pPM10 36 03 54 | pm10 | o1 03 32 | PM10
105#5% Q7P 30 PM10 | 58 03 44 03 56 PM10 | 37 03 35 PM10
105#5% 08P 44 PM10 | 66 03 54 03 57 PM10 | 49 03 43 03
105#5% 09 p 43 03 58 03 39 03 57 PM10 | 54 03 40 03
105#57 10p 24 | pMm10 | 50 | PM10 34 PM10 | 55 | pm10 | 36 03 31 | PM10
105#5% 11p 62 03 54 03 62 03 59 PM10 | 59 03 52 03
105#5% 12p 50 03 91 03 78 03 76 03 56 03 53 03
105#57% 13p 50 PM10 | 75 03 61 03 66 PM10 | 58 03 53 PM10
105#57% 14p 65 03 65 03 54 03 61 PM10 | 67 03 54 03
105#5% 15p 42 PM10 | 57 03 46 03 58 PM10 | 48 03 50 PM10
105#5% 16 P 37 03 42 PM10 36 03 49 PM10 | 36 03 33 03
105#5% 17p 41 03 50 PM10 73 03 51 03 39 03 40 PM10
105#5% 18p 49 03 64 03 51 PM10 57 03 45 03 50 03
105#5% 19p 50 03 90 03 74 03 69 03 54 | PM10 54 PM10
105#5% 20p 51 03 88 03 72 03 67 03 61 03 62 PM10
105#5% 21p 53 | pPM10 | 82 | PM10 63 PM10 | 66 | PmM10 | 55 | PM10 | 67 | PM10
105#5" 22p 22 03 54 | PM10 25 PmM10 | 31 | pm10 | 26 03 33 | PM10
105#5% 23p 51 03 48 03 31 03 33 03 42 03 32 03
105&5% 24 p 44 03 52 03 37 03 31 PM10 | 50 03 32 PM10
105#57% 25p 44 03 71 03 66 03 60 03 53 03 50 PM10
105#57% 26 59 03 84 03 66 03 70 03 84 03 63 03
105#5% 27p 55 03 74 03 56 03 54 03 69 03 57 03
105#5% 28p 32 03 47 03 37 03 33 PM10 | 46 03 35 03
105#5% 29 23 03 36 03 25 PM10 | 27 | pMm10 | 37 03 30 | pPM10
105#57 307 | 21 | pm10 | 37 | pm10 | 27 03 | 30 | pM10 |39 | 03 | 30 | PM10
10551 31p 19 | pm10o | 37 03 29 | pm10 | 31 | pm10 | 35 | 03 28 | pM10
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) PSI [5%4 | PSI [3%4 | PSI [3%% | PSI 544+ | PSI |i53%%
105#57 01p 50 PM10 47 PM10 55 PM10 45 PM10 49 (OK
105&57 02p 53 03 52 PM10 60 03 48 03 64 03
105#5% 03 p 44 PM10 41 PM10 58 PM10 41 PM10 33 O3
105#5% 04 p 55 PM10 44 PM10 58 PM10 45 PM10 41 O3
105#57 05p 50 PM10 43 PM10 53 PM10 47 03 59 03
105#57 06 p 39 PM10 32 O3 45 PM10 39 PM10 46 O3
105#5% 07 p 40 PM10 31 PM10 48 PM10 36 PM10 37 O3
105#57 08 p 51 PM10 41 PM10 55 PM10 42 PM10 42 PM10
105&57 09 p 47 PM10 37 03 51 PM10 35 PM10 55 03
105#5% 10p 39 PM10 23 PM10 40 PM10 32 PM10 27 03
105#5% 11p 58 O3 56 03 73 03 40 03 82 03
105&57 12p 53 PM10 49 PM10 70 03 41 PM10 58 03
105#5% 13p 63 PM10 56 PM10 60 O3 59 03 59 03
105#5% 14p 66 O3 57 O3 82 O3 60 03 82 03
105&57 15p 52 PM10 53 PM10 55 PM10 59 PM10 55 03
105#57 16 p 34 03 32 O3 44 O3 32 03 42 03
105#5% 17p 39 O3 37 O3 48 O3 39 PM10 57 03
105#57 18p 47 O3 42 03 57 03 47 03 62 03
105&57 19p 51 PM10 53 PM10 63 03 57 PM10 65 03
105#5% 20p 57 O3 53 PM10 77 O3 66 PM10 71 O3
105#5% 21p 56 PM10 69 PM10 75 PM10 80 PM10 60 PM10
105&57 22p 30 PM10 30 PM10 44 PM10 41 PM10 38 03
105#5% 23p 30 03 28 03 42 03 30 03 ol 03
105#5% 24p 37 03 40 03 52 PM10 41 PM10 ol 03
105&57% 25p 44 03 45 PM10 54 O3 55 PM10 61 03
105#57 26 p 53 03 57 03 91 O3 64 PM10 69 03
105#5% 27p 43 O3 42 O3 74 O3 o1 PM10 68 03
105#5% 28p 34 PM10 28 PM10 37 03 36 PM10 39 03
105#5% 29p 20 03 26 PM10 37 PM10 38 PM10 29 PM10
105#5% 30p 32 PM10 28 PM10 41 PM10 38 PM10 30 PM10
105&57 31p 33 O3 27 PM10 39 PM10 35 PM10 30 PM10
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28 Lp BRI LETELF 5 A4 10557 T o 1048 £
P | Eix PR ;%/%v AR L R AR R AN A R I R RS L
SO, | ppb 104 & - 35 27 130/29|29[30[36[32]24[23|30|25|40]|44 |40 32|48
105#5* +3¥5 131 (30[27 2631|2943 ]18[12|17|23|33|53|35]|38]45
NO, | ppb 104# T35 111.3(14.2|18.2/18.0|15.4|16.7 |11.8|14.8|16.6|15.7|15.0|17.3|13.1|14.4[14.2]11.2
105#5% T35 1101(13.9|15.6|16.3|15.1|13.3/10.3| 9.2 |12.2|13.4|11.9|16.9|13.9|13.7|11.9(11.9
0; | ppb 104# L35 130.230.0 | 26.2|25.7[29.0|27.6|26.9|26.8|225|22.5|19.8|23.8|26.3|26.0|24.4|30.1
105#5% L35 1313|29.1(28.7|28.6|29.7|31.0|23.8|30.4|23.9|19.2|21.9|22.3|23.0|27.7|21.6|317
CO | ppm 104# =35 10.43(0.37|0.51|0.47 | 0.36 | 0.60 0.25 ] 0.50 0.52
105#5" T35 1 0.46(0.35|0.45|0.43|0.32 | 0.68 0.16 | 0.45 0.48
NMHC| ppb 104+ =35 10.14 0.23[0.180.20 | 0.35 0.31 | 0.46
105#5" T35 |0.14 0.190.13]0.19 | 0.50 0.24 | 0.44
PMyg | wgm? 104# T 35 37 | 51 | 52 | 44 | 50 | 50 | 50 | 60 | 51 | 57 | 48 | 64 | 58 | 54 | 55 | 65
105#5% L35 | 30 | 40 | 47 | 36 | 42 | 38 | 33 | 57 | 41 | 57 | 43 | 41 | 43 | 52 | 47 | 42
PM,s | pgm® | 104#F#2 | 22 | 20 | 28 | 25 | 25 | 26 | 19 | 19 | 22 | 22 | 24 | 27 | 21 | 24 | 33 | 25
105#5% T35 | 23 | 18 [ 22 | 19 | 23 | 21 | 11 | 12 | 13 | 11 | 18 | 24 | 23 | 28 | 24 | 26
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